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Directions (1-5): ﬁ?ﬁrﬁauﬁaﬁwmmmﬁﬁ%waﬁhm%
faavor ) g=ifar @ oik arfereT S9H dsw! ik asfeal & srqurd &1 gxrfdl 8.1
fFrafeafad vyl &1 3w 3 & T UTw 1 wrFgds Srea o

e : 7o 31 S A & 3w guH e PRl A A €.

St. Noble , 18°

Bal Bharti, 90°
BPS 5400

St.Marry, 72°

Prool TSP 3R ASipal B
U aS¥: asfdar

DAV 5:4

BPS 3:1

Jde T 5:3

S YRl | 3:2

DPS 7:5

e Ned 2:1

Q1. DAV ¥ Tt Ut $3+ a1d A8®| &t $d |, I HRdT A Mierai e s34
A dSP! Bt pa GBI | fhar ufazra st 82

(a) 50/3%

(b) 100/9%

(c) 200/9%



(d) 80/9%
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Q2. ¥e AN, DPS 3R e Aad & fArare? M U $34 arell asfeal @t g
@ feadt 32

(a) 8,700

(b) 7,800

(c) 9,700

(d) 6,700

(e) 10,700
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Q. AR e HRF %" o w6l ¥ Rie s Miftri oM o7 34 § o siqa: Je &6
| Mgl 1@ aret ST B $d JE&AT, BPS | Ml UTed H-+ arel STl 31
& &1 faramr ufa=ra 82

(a) 50%

(b) 400%

(c) 500%

(d) 450%

(e) 250%
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Q4. BPS 3R 9Td HIR< | e Mt U #53 a1dt dso! &1 $ol JWT a4T DAV
3R He Tiaa § frare: mierai ura s ardl asfeal &1 o w8 & g fea
3feR 7

(a) 5,400

(b) 4,005

(c) 4,050

(d) 3,050

(e) 3,090

L1Difficulty 2

QTagsMiscellaneous DI

QCreatorDeepak Rohilla

Q5. DAV, ¥e B¥ 3R DPS Fiaw & TS| & ol JBT JId DISIT.
(a) 61,000
(b) 63,000



(c) 53,000

(d) 73,000

(e) 63,500
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Directions (6-10):ﬁ%ﬁqwﬁmﬂwmaﬁvﬁqwuaﬁ%wﬁm-
e faftra auf o = fafim s # eifea ol @t @oRl #) e

=
o

M District X
M District Y

™ District Z

Number of students
(in thousands)

O P N W B U1 O N 0 O
I N I I

2010 2011 2012 2013 2014 2015
Years

Q6. fefe®-z ¥ adf 2012 ® fUod adf &t gan A faenfial ot en & amiea |
ufaerd gfs faast &t

(a) 115.5

(b) 112.5

(c) 15.5

(d) 12.5

(e) 17.5
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Q7. a¥ 2013 # Tt fora # Anifera o @1 w@m ok 9t auf # f3fees v &
AWifed S $1 T F Ay fHaqr siar 82

(a) 12000

(b) 11000

(c) 1100

(d) 1400

(e) 1600
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Sﬁsﬂmaﬁﬁw-wumxﬁwwmmﬁﬁ&ﬁﬂammﬁ

(a) 5999

(b) 5666

(c) 5444

(d) 53333

(e) 6999
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Qo. fp<1 adf & |t vl & AT a 19 ara BTl @SB gas! gad 3iftw A2
(a) 2011

(b) 2012

(c) 2013

(d) 2014

(e) 2015
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Q10. f3fe® x oz fefeae v ® uwary adf 2015 ¥ Awifda ol #1 o e, af
2013 ¥ f&fe® x ¥ Amwifra S @t $a W@ &1 fHaq ufaza 82

(a) 150

(b) 120

(c) 250

(d) 220

() 240
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Directions (11-15): & T3 difersT &1 3regg &3 iR 2 AT 7w ushi &1 IR <ifve-

T A T avg 3Nl BT ST (FIIS 394 )

qu | o AT | SATCITD a3 BT AT
2005 | 6593 572

2006 | 6404 634

2007 | 5496 727

2008 | 5992 693

2009 | 6432 563




Q11. 9% 2006 W Fa 3mard, G auf § TR Fet ATl &1 T ford=T wia=ra 82
(a) 21
(b) 29

ici17

(e) 24
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Q12.9Y 2006 & 2007 W SATCITP a&g3ii & AT A iy (Mfer=ra o) TR forait
1

(a) 15%

(b) 17%

(c) 25%

(d) 22%

(e) 26%
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Q13.TY 2006 I 2009 TH 4 ATA DI AAY A SAFE 1D TATA 3T, GHH @AY &
SR P T 3T BT T fHar ufa=ra 82

(a) 20%

(b) 11%

(d) 29%

(e) 33%
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Q14. 9fe FATI-® 3TgeH T¥ 2006 H ATATd A8 fPT T B, ot 3T a¥ &1 e AT
faar g

(a) 5470

(b) 5830

(c) 5970

(d) 5770

(e) 6770
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Q15.TUl gl & 3y ST fara-T 82
(a) 6183.4

(b) 6283.4

(c) 6083.4

(d) 6583.4

(e) 608.34

L1Difficulty 2

QTagsTable DI

QCreatorDeepak Rohilla

Solutions

S1. Ans.(b)

Ix108-Ix90
Required percentage = # X 100

5
__ 100

— 04
Sol. ?

S2. Ans.(a)
Required average

_1,(3,72,5 80 1 18
—3x(8x12+1:x12+3><l:)>-<54{}D
(+ BPS = 360 - 348 = 12°)

=~ X (26,100)

Sol. = 8,700
S3. Ans.(c)
50 1
—% = -
3 &
5
-xT2
~ Required percentage = ”12 x 100
Sol. = EDﬂ{'fﬁ
S4. Ans.(c)

Total no. of boys of BPS and Bal Bharti together who
got tablets =% #5400 + %X E * 5400

= 28,350
Total no. of girls of DAV and St. Noble who got tablets

=2 % 2% % 5400 4 = x == x 5400
3 1z 3712

= 21,600+ 2,700

= 24,300

~ Required difference = 28,350 - 24,300
Sol. = 4050



S5. Ans.(b)

Required no. of boys

— (208,55, 72,7 .80

_(gx 12 +3><12+l2>-<12)><54ﬂﬂ
Sol. = 63,000

S6. Ans.(d)
Required percentage increase
=28 100=220 155y
"8 g 77

Sol.

S7. Ans.(a)
Number of students enrolled in all the
three districts in the year 2013
=(B+6+7)
= 21 thousand
Number of students enrolled in District-Y
over all the years together
=(5+4+7+6+4+7)

= 33 thousand
~ Required difference = (33 - 21)
=12,000
Sol.
S8. Ans.(b)
Average number of students enrolled in
District-X over all the years together
1
=gx(3+5+6+8+?+5]
1
=_ X34
6
=~ 5,666 thousands
Sol = 5666 [approximately)
S9. Ans.(c)

The highest number of students may be in
year 2012 or 2013 from the graph.
-~ Students enrolled in 2012

=(6+7+9)

= 22 thousand
and students enrolledin 2013 =[8+ 6+ 7)

= 21 thousand
Sol. second highest enrolled students are in 2013



S10. Ans.(a)
Total number of students enrolled in the
year 2015 from district-X and Y
=(5+7)
=12 thousand
Number of students enrolled in District-X
in 2013 = 8 thousands

12
Required percentage = Y * 100

3
=—x 100
2
=150%
Sol.
S11. Ans.(a)

In 2006 imports = 6404
And total imports = 30917
So, in percentage

_540% 100 = 20.71% ~ 21%

Sol. 30917

S12. Ans.(a)
Rise in 2007 = % X 100

e ﬂ — Pl
Sol e ® 100 = 14.66% =~ 15%

S13. Ans.(b)
Period from 2006 to 2009
Electronic import = 634 + 727 + 693 + 563 = 2617
Total import = 6404 + 5496 + 5992 + 6432
=24324

2617 _ 0 —
v ¥ 100 = 10.75% = 11%

Sol.

S14. Ans.(d)

Sol. In 2006 total imports = 6404

If electronic items have not been imported then the total imports of that
Year = 6404 - 634 =5770

S15. Ans.(a)
Average import
_ 6593+6404+5496+5992+6432

30917

5
= 61834
Sol.






